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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 
CT) 	 June, 2013 OD 
(1) 
CD 	BECE-016 : ECONOMIC DEVELOPMENT : 

COMPARATIVE ANALYSIS AND 
CONTEMPORARY ISSUES 

Time : 3 hours 	 Maximum Marks : 100 

Note : Answer the questions as per the instructions given for 

each section. 

SECTION - A 

Long Answer Questions 

(Answer any two questions from this section 

in about 500 words each) : 

1. What do you mean by sustainable development 20 

and its linkages ? List out the major steps that 

you would like to initiate regarding the sustainable 

development. 

2. Discuss the role of Asian Development Bank, its 	20 
main functions and objectives. 

3. What are the basic ingredients of the USA 20 

economy ? 

4. Discuss some thrust areas of the 1.1th Five Year 20 

Plan of India 
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SECTION-B 

Medium Answer Questions 
Attempt any three questions from this section (in 
about 250 words each). 

5. Discuss the Singapore's economic strategy of 10 
growth followed since 1999. 

6. What are the steps taken in the Tenth Five Year 10 

Plan of India aimed at improving the quality of 
governance. 

7. Which exchange rate system would you favour 10 
and why ? 

8. Define social development and social disparity. 	10 

9. What are the problems of market socialism ? 	10 

BECE-016 	 2 



SECTION-C 
Short Answer Questions 

Answer all the questions from this section (in 
about 100 words each). 

10. Distinguish between any three pair of the 
following : 
(a) What is the difference between increase and 	5 

growth ? 
(b) What is the difference between new 	5 

classical growth theory and new growth 
theory ? 

(c) Land Reform and Labour Reform. 	5 
(d) How modern phase of economic growth is 	5 

different from earlier phase of economic 
growth. 

(e) Socialism and communism. 	 5 

11. Attempt any three of the following : 
(a) India's trade with Africa 	 5 
(b) Sustainable Development 	 5 
(c) Foreign trade policy of Singapore 	 5 
(d) Cancun meeting 	 5 
(e) IT training 	 5 
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BECE-016 	 7 


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

